Multi-digit Subtraction

S3

Ainswer Key

Line up the digits vertically and find the difference.

1) 731,702 -89,143

731,702
- 89,143

642,559

3) 1,346,426 — 358,361

1,346,426
- 358,361

988,065

5) 3,858,321 -75,873

3,858,321
- 75,873

3,782,448

7) 907,145 -539,613

907,145
- 539,613

367,532

2) 2,032,441 -67,358

2,032,441
- 67,358

1,965,083

4) 87,654 — 49,287

87,654
- 49,287

38,367

6) 502,506 - 27,980

502,506
- 27,980

474,526

8) 4,798,012 - 2,083,741

4,798,012
- 2,083,741

2,714,271
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